Journal of Mathematical Research & Exposition May, 2011, Vol. 31, No. 3, pp. 567–570 DOI:10.3770/j.issn:1000-341X.2011.03.024 Http://jmre.dlut.edu.cn

Notes on "Generalised Fuzzy Soft Sets"

Hai Long YANG

College of Mathematics and Information Science, Shaanxi Normal University, Shaanxi 710062, P. R. China

Abstract In this paper, we point out that several assertions (Propositions 3.15 and 5.2 (v)) in a previous paper by Majumdar and Samanta are not true in general, by counterexamples.

Keywords generalised fuzzy soft set; union; intersection; complement.

Document code A MR(2010) Subject Classification 03E47; 03E72 Chinese Library Classification 0159

1. Introduction

Molodtsov [1] initiated the theory of soft sets, which can be seen as a new mathematical tool for dealing with uncertainties which traditional mathematical tools cannot handle. Maji et al. [2] introduced the concept of fuzzy soft set, a more generalised concept, which is a combination of fuzzy set and soft set and studied its properties. Recently, fuzzy soft set theory has been applied to decision making problems [3] and forecasting [4]. Majumdar and Samanta [5] further generalised the concept of fuzzy soft sets as introduced by Maji et al. [2]. In this paper, we give the related concepts and the assertions in [5], then we verify that the assertions (Proposition 3.15 and Proposition 5.2 (v)) in [5] are incorrect by counterexamples.

2. Preliminaries

In this section, we recall some basic notions in generalised fuzzy soft set theory.

Definition 2.1 ([5]) Let $U = \{x_1, x_2, \ldots, x_n\}$ be the universal set of elements and $E = \{e_1, e_2, \ldots, e_m\}$ be the universal set of parameters. The pair (U, E) will be called a soft universe. Let $F : E \longrightarrow I^U$ and μ be a fuzzy subset of E, i.e., $\mu : E \longrightarrow I = [0, 1]$, where I^U is the collection of all fuzzy subsets of U. Let F_{μ} be the mapping $F_{\mu} : E \longrightarrow I^U \times I$ defined as follows: $F_{\mu}(e) = (F(e), \mu(e))$, where $F(e) \in I^U$. Then F_{μ} is called a generalised fuzzy soft set (GFSS in short) over the soft universe (U, E).

Remark 2.2 ([5,6]) Let c be an involutive fuzzy complement and g be an increasing generator of

Received March 8, 2010; Accepted May 28, 2010

Supported by the Science Fund for Young Scholars of Shaanxi Normal University (Grant No. 200701007) and the Natural Science Foundation of Shaanxi Province (Grant No. 2010JM1005). E-mail address: yanghailong@snnu.edu.cn

c. Let * and \circ be two binary operations on [0, 1] defined as follows: $a * b = g^{-1}(g(a) + g(b) - g(1))$ and $a \circ b = g^{-1}(g(a) + g(b))$. Then * is a *t*-norm and \circ is a *t*-conorm. Moreover $(*, \circ, c)$ becomes a dual triple.

Henceforth in the rest of the paper we will take such an involutive dual triple to consider the general case.

Definition 2.3 ([5]) Let F_{μ} be a GFSS over (U, E). Then the complement of F_{μ} , denoted by F_{μ}^{c} , is defined by $F_{\mu}^{c} = G_{\delta}$, where $\delta(e) = \mu^{c}(e)$ and $G(e) = F^{c}(e)$, $\forall e \in E$.

Definition 2.4 ([5]) Union of two GFSS F_{μ} and G_{δ} , denoted by $F_{\mu} \widetilde{\cup} G_{\delta}$, is a GFSS H_{ν} , defined as $H_{\nu} : E \longrightarrow I^{U} \times I$ such that $H_{\nu}(e) = (H(e), \nu(e))$, where $H(e) = F(e) \circ G(e)$ and $\nu(e) = \mu(e) \circ \delta(e)$.

Definition 2.5 ([5]) Intersection of two GFSS F_{μ} and G_{δ} , denoted by $F_{\mu} \cap G_{\delta}$, is a GFSS H_{ν} , defined as $H_{\nu} : E \longrightarrow I^{U} \times I$ such that $H_{\nu}(e) = (H(e), \nu(e))$, where H(e) = F(e) * G(e) and $\nu(e) = \mu(e) * \delta(e)$.

Definition 2.6 ([5]) A GFSS is said to be a generalised null fuzzy soft set, denoted by Φ_{θ} , if $\Phi_{\theta} : E \longrightarrow I^U \times I$ such that $\Phi_{\theta}(e) = (F(e), \theta(e))$, where $F(e) = \overline{0} \forall e \in E$ ($\overline{0}(x) = 0, \forall x \in U$) and $\theta(e) = 0, \forall e \in E$.

Definition 2.7 ([5]) A GFSS is said to be a generalised absolute fuzzy soft set, denoted by \widetilde{A}_{α} , if $\widetilde{A}_{\alpha} : E \longrightarrow I^{U} \times I$ such that $\widetilde{A}_{\alpha}(e) = (A(e), \alpha(e))$, where $A(e) = \overline{1}, \forall e \in E$ ($\overline{1}(x) = 1, \forall x \in U$) and $\alpha(e) = 1, \forall e \in E$.

3. Counterexamples

We begin this section with a result given by Majumdar and Samanta in [5].

Theorem 3.1 (Proposition 3.15 ([5])) The following laws also hold true:

(a) $F_{\mu} \widetilde{\cup} F_{\mu}^{c} = \widetilde{A}_{\alpha}$ and (b) $F_{\mu} \widetilde{\cap} F_{\mu}^{c} = \Phi_{\theta}$.

Remark 3.2 The assertions above were not proved in detail in [5]. In fact, the assertions are incorrect in general. Let F_{μ} be a GFSS over (U, E). Take $a * b = a \cdot b$, $a \circ b = a + b - a \cdot b$, and $a^c = 1 - a$. Then $(F_{\mu} \widetilde{\cup} F_{\mu}^c)(e) = (F(e) \circ F^c(e), \mu(e) \circ \mu^c(e)) = (\overline{1} - F(e) \cdot (\overline{1} - F(e)), 1 - \mu(e) \cdot (1 - \mu(e)));$ $(F_{\mu} \widetilde{\cap} F_{\mu}^c)(e) = (F(e) * F^c(e), \mu(e) * \mu^c(e)) = (F(e) \cdot (\overline{1} - F(e)), \mu(e) \cdot (1 - \mu(e))).$ If $F(e) \neq \overline{0}$ and $F(e) \neq \overline{1}$, or $\mu(e) \neq 0$ and $\mu(e) \neq 1$, then $(F_{\mu} \widetilde{\cup} F_{\mu}^c)(e) \neq (\overline{1}, 1)$ and $(F_{\mu} \widetilde{\cap} F_{\mu}^c)(e) \neq (\overline{0}, 0).$ So $F_{\mu} \widetilde{\cup} F_{\mu}^c \neq \widetilde{A}_{\alpha}, F_{\mu} \widetilde{\cap} F_{\mu}^c \neq \Phi_{\theta}.$

Next we give a concrete example.

Example 3.3 Let $U = \{x_1, x_2, x_3\}$ be a set of three shirts under consideration. Let $E = \{e_1, e_2, e_3\}$ be a set of qualities where $e_1 =$ bright, $e_2 =$ cheap, $e_3 =$ colorful. Let $\mu : E \longrightarrow I = [0, 1]$ be defined as follows: $\mu(e_1) = 0.1$, $\mu(e_2) = 0.4$, $\mu(e_3) = 0.7$.

Let us define the *t*-norm * on [0,1] as follows: $a * b = a \cdot b$ and the *t*-conorm \circ on [0,1] as

follows: $a \circ b = a + b - a \cdot b$. Let us also take c as the fuzzy complement i.e., $a^c = 1 - a$. Then $(*, \circ, c)$ forms an involutive dual triple.

The GFSS $F_{\mu}: E \longrightarrow I^U \times I$ is defined as follows:

$$F_{\mu}(e_1) = \left(\left\{\frac{x_1}{0.7}, \frac{x_2}{0.4}, \frac{x_3}{0.2}\right\}, 0.1\right), \ F_{\mu}(e_2) = \left(\left\{\frac{x_1}{0.1}, \frac{x_2}{0.3}, \frac{x_3}{0.9}\right\}, 0.4\right), \\F_{\mu}(e_3) = \left(\left\{\frac{x_1}{0.8}, \frac{x_2}{0.5}, \frac{x_3}{0.4}\right\}, 0.7\right).$$

By Definition 2.3, we conclude F^c_{μ} as follows:

$$F_{\mu}^{c}(e_{1}) = \left(\left\{\frac{x_{1}}{0.3}, \frac{x_{2}}{0.6}, \frac{x_{3}}{0.8}\right\}, 0.9\right), \ F_{\mu}^{c}(e_{2}) = \left(\left\{\frac{x_{1}}{0.9}, \frac{x_{2}}{0.7}, \frac{x_{3}}{0.1}\right\}, 0.6\right), \\F_{\mu}^{c}(e_{3}) = \left(\left\{\frac{x_{1}}{0.2}, \frac{x_{2}}{0.5}, \frac{x_{3}}{0.6}\right\}, 0.3\right).$$

By Definition 2.4, we conclude $F_{\mu} \widetilde{\cup} F_{\mu}^c$ as follows:

$$(F_{\mu}\widetilde{\cup}F_{\mu}^{c})(e_{1}) = (\{\frac{x_{1}}{0.79}, \frac{x_{2}}{0.76}, \frac{x_{3}}{0.84}\}, 0.91), \ (F_{\mu}\widetilde{\cup}F_{\mu}^{c})(e_{2}) = (\{\frac{x_{1}}{0.91}, \frac{x_{2}}{0.79}, \frac{x_{3}}{0.91}\}, 0.76), \\ (F_{\mu}\widetilde{\cup}F_{\mu}^{c})(e_{3}) = (\{\frac{x_{1}}{0.84}, \frac{x_{2}}{0.75}, \frac{x_{3}}{0.76}\}, 0.79).$$

Thus $F_{\mu} \widetilde{\cup} F_{\mu}^c$ is not a generalised absolute fuzzy soft set. This implies that the assertion $F_{\mu} \widetilde{\cup} F_{\mu}^c = \widetilde{A}_{\alpha}$ ((a) in Theorem 3.1) does not hold.

By Definition 2.5, we conclude $F_{\mu} \cap F_{\mu}^{c}$ as follows:

$$(F_{\mu} \widetilde{\cap} F_{\mu}^{c})(e_{1}) = \left(\{\frac{x_{1}}{0.21}, \frac{x_{2}}{0.24}, \frac{x_{3}}{0.16}\}, 0.09\right), \ (F_{\mu} \widetilde{\cap} F_{\mu}^{c})(e_{2}) = \left(\{\frac{x_{1}}{0.09}, \frac{x_{2}}{0.21}, \frac{x_{3}}{0.09}\}, 0.24\right), \\ (F_{\mu} \widetilde{\cap} F_{\mu}^{c})(e_{3}) = \left(\{\frac{x_{1}}{0.16}, \frac{x_{2}}{0.25}, \frac{x_{3}}{0.24}\}, 0.21\right).$$

Thus $F_{\mu} \widetilde{\cap} F_{\mu}^{c}$ is not a generalised null fuzzy soft set. This implies that the assertion $F_{\mu} \widetilde{\cap} F_{\mu}^{c} = \Phi_{\theta}$ ((b) in Theorem 3.1) does not hold. This shows that Theorem 3.1 is actually not true.

Theorem 3.4 (Proposition 5.2 (v) ([5])) Let F_{μ} and G_{δ} be two GFSS over (U, E). Then the following holds:

(v) $F_{\mu} \cap G_{\delta} = \Phi_{\theta} \iff S(F_{\mu}, G_{\delta}) = 0$, where minimum operation has been taken as generalised fuzzy intersection and $S(F_{\mu}, G_{\delta})$ is the similarity between F_{μ} and G_{δ} (see [5, p. 1430).

Remark 3.5 In [5], Majumdar and Samanta point out that the proof is straightforward and follows from definition. In fact, the sufficiency of (v) in Theorem 3.4 does not hold in general. If $S(F_{\mu}, G_{\delta}) = 0$, then $M(\hat{F}, \hat{G}) = 0$ or $m(\mu, \delta) = 0$ which cannot imply $F_{\mu} \cap G_{\delta} = \Phi_{\theta}$. If two GFSS F_{μ} and G_{δ} satisfy $m(\mu, \delta) = 0$ and $F(e) * G(e) \neq \overline{0}$, then $S(F_{\mu}, G_{\delta}) = 0$ by definition, but $F_{\mu} \cap G_{\delta} \neq \Phi_{\theta}$.

Next we give a concrete example.

Example 3.6 Consider the following two GFSS where $U = \{x_1, x_2, x_3\}$ and $E = \{e_1, e_2, e_3\}$:

$$F_{\mu}(e_1) = \left(\left\{\frac{x_1}{0.7}, \frac{x_2}{0.4}, \frac{x_3}{0.2}\right\}, 0\right), \ F_{\mu}(e_2) = \left(\left\{\frac{x_1}{0.2}, \frac{x_2}{0.3}, \frac{x_3}{0.9}\right\}, 0.4\right), \ F_{\mu}(e_3) = \left(\left\{\frac{x_1}{0.8}, \frac{x_2}{0.5}, \frac{x_3}{0.4}\right\}, 0.6\right)$$

$$G_{\delta}(e_1) = \left(\left\{\frac{x_1}{0.5}, \frac{x_2}{0.4}, \frac{x_3}{0.6}\right\}, 0.1\right), \ G_{\delta}(e_2) = \left(\left\{\frac{x_1}{0.3}, \frac{x_2}{0.2}, \frac{x_3}{0.7}\right\}, 0\right), \ G_{\delta}(e_3) = \left(\left\{\frac{x_1}{0.4}, \frac{x_2}{0.8}, \frac{x_3}{0.9}\right\}, 0\right).$$

Define the *t*-norm * on [0, 1] as follows: $a * b = a \land b$.

By the similarity formula between two fuzzy sets [5, p. 1430], we can easily conclude the similarity between the two fuzzy sets μ and δ : $m(\mu, \delta) = 0$. Therefore, by the similarity formula between two GFSS [5, p. 1430], we can easily conclude the similarity between the two GFSS F_{μ} and G_{δ} : $S(F_{\mu}, G_{\delta}) = M(\widehat{F}, \widehat{G}) \cdot m(\mu, \delta) = 0$. However

$$(F_{\mu} \widetilde{\cap} G_{\delta})(e_1) = \left(\left\{ \frac{x_1}{0.5}, \frac{x_2}{0.4}, \frac{x_3}{0.2} \right\}, 0 \right), \ (F_{\mu} \widetilde{\cap} G_{\delta})(e_2) = \left(\left\{ \frac{x_1}{0.2}, \frac{x_2}{0.2}, \frac{x_3}{0.7} \right\}, 0 \right), \\ (F_{\mu} \widetilde{\cap} G_{\delta})(e_3) = \left(\left\{ \frac{x_1}{0.4}, \frac{x_2}{0.5}, \frac{x_3}{0.4} \right\}, 0 \right).$$

This implies that $F_{\mu} \widetilde{\cap} G_{\delta} \neq \Phi_{\theta}$.

References

- [1] MOLODTSOV D. Soft set theory first results [J]. Comput. Math. Appl., 1999, 37(4-5): 19–31.
- [2] MAJI P K, BISWAS R, ROY A R. Fuzzy soft sets [J]. J. Fuzzy Math., 2001, 9(3): 589–602.
- [3] ROY A R, MAJI P K. A fuzzy soft set theoretic approach to decision making problems [J]. J. Comput. Appl. Math., 2007, 203: 412–418.
- [4] XIAO Zhi, GONG Ke, ZOU Yan. A combined forecasting approach based on fuzzy soft sets [J]. J. Comput. Appl. Math., 2009, 228(1): 326–333.
- [5] MAJUMDAR P, SAMANTA S K. Generalised fuzzy soft sets [J]. Comput. Math. Appl., 2010, 59(4): 1425–1432.
- [6] GEORGE J K, YUAN B. Fuzzy Sets and Fuzzy Logic, Theory and Applications, 6th ed. [M]. Prentice-Hall, India, 2002.